Amana ALE230RCW (BOM: PALE230RCW) 07 - REAR BULKHEAD,
ROLLERS & AIR DUCT

Amana Residential Amana ALE230RCW (BOM: PALE230RCW) Dryer Parts Parts Diagram 07 - REAR BULKHEAD
ROLLERS & AIR DUCT

Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
1 503605 Assembly, Heater Duct
2 61195 61927 Heater Assembly
3 503688 Screw, 10B-16 X .34 |
4 40113801 Fuse, Thermal
5 23222 3177991 Screw
6 Y 62641 W10116735 Thermistor-Fix
7 20530 Screw, 10-24 x 3/8 Hex
8 Y61199 3400094 Screw, 10-32 X 3/8
9 61923 Block, Terminal
10 40111601 Y504185 Shield, Terminal Block
11 501285 Screw, No.12 X 9/16-Pla
12 504801W 502614WP Bulkhead, Rear
13 501801 37001132 Seal, Cylinder
14 56156 358160 Nut

15 56461 Shaft


http://www.pwslaundry.com/c-503237-residential-amana-ale230rcw-(bom:-pale230rcw)-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10393310-amana-503605-washer-dryer-assembly-heater-duct.html
http://www.pwslaundry.com/i-10393459-amana-61927-washer-dryer-heater-assembly.html
http://www.pwslaundry.com/i-10395287-amana-503688-washer-dryer-screw-10b-16-x-34-i.html
http://www.pwslaundry.com/i-10393312-amana-40113801-washer-dryer-fuse-thermal.html
http://www.pwslaundry.com/i-10396525-amana-3177991-washer-dryer-screw.html
http://www.pwslaundry.com/i-10396031-amana-w10116735-washer-dryer-thermistor-fix.html
http://www.pwslaundry.com/i-10393354-amana-20530-washer-dryer-screw-10-24-x-3-8-hex.html
http://www.pwslaundry.com/i-10396534-amana-3400094-washer-dryer-screw-10-32-x-3-8.html
http://www.pwslaundry.com/i-10393378-amana-61923-washer-dryer-block-terminal.html
http://www.pwslaundry.com/i-10393553-amana-y504185-washer-dryer-shield-terminal-block.html
http://www.pwslaundry.com/i-10395291-amana-501285-washer-dryer-screw-no-12-x-9-16-pla.html
http://www.pwslaundry.com/i-10393555-amana-502614wp-washer-dryer-bulkhead-rear.html
http://www.pwslaundry.com/i-10393386-amana-37001132-washer-dryer-seal-cylinder.html
http://www.pwslaundry.com/i-10396251-amana-358160-washer-dryer-nut.html
http://www.pwslaundry.com/i-10393470-amana-56461-washer-dryer-shaft.html

-
3
N
%
S
(o2)
P
=l

8
o
Q.
3.
>

19 503688 Screw, 10B-16 X .34 |

laundry company*

laundry company®

laundry company*


http://www.pwslaundry.com/i-10393388-amana-37001042-washer-dryer-assembly-cylinder-roller.html
http://www.pwslaundry.com/i-10392832-amana-23748-washer-dryer-ring-retaining.html
http://www.pwslaundry.com/i-10393390-amana-y504082-washer-dryer-washer-wave.html
http://www.pwslaundry.com/i-10395287-amana-503688-washer-dryer-screw-10b-16-x-34-i.html
http://www.pwslaundry.com/i-10393392-amana-40113601-washer-dryer-assembly-roller-brkt.html

	Amana ALE230RCW (BOM: PALE230RCW) 07 - REAR BULKHEAD, ROLLERS & AIR DUCT

